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___________________________________________________________________________

The EMV input paper mandates T=1. A bi-protocol card would have T=0 listed first in the ATR (in TD1) and then T=1 (in TD2). This ATR doesn't leave any room for T=0. 

In addition, since TA1 is absent, the default parameters for F and D have to be used. This implies that      1 work etu = 372/f (where f is the external clock frequency). This does not allow faster communication speed by playing with the F and D parameters (1 work etu = F/(Dxf)).

Character
Value
Remarks
comparison with 31.101

TS
3B or 3F
Indicates direct or inverse convention 
.Is the same than ISO 7816-3

T0
Ex
TB1 to TD1 present; x indicates the number of historical bytes present
.Idem. The first nibble ‘E’ = 1110,means that only TA1 will be absent. The T0 byte and the TD(i) higher nibble are dedicated to Mapping. Their only role is to signal the presence of the subsequent TA(i+1),TB(i+1),TC(i+1),TD(i+1) bytes 

in the ATR. When you put the corresponding mapping bit to 1,

you’re saying

b5=1 in TD(i) means that TA(i+1) follows

b6=1 in TD(i) means that TB(i+1) follows

...

TB1
"00"
VPP not required
Same.

TC1
"00" to "FF"
indicates amount of extra guard time required. Value "FF" has special meaning
The ME should not reject the ICC if the value is not 00 nor FF

TD1
"81"
TA2 to TC2 absent; TD2; present; T=1 to be used
OK.The lowest nibble of TD(i) codes a Transport Protocol supported by the Card with the protocol

Transmission parameters, defined in the subsequent bytes. 

WARNING ! Such an ATR means that the Card only supports T=1.

If the Card supports both T=0 and T=1

TD(1) = ‘80’ and then you code TD(2)=’X1’

‘81’= 1000 0001.

The higher nibble 1000 means that only TD(2) shall be present.

The Lower nibble 0001 codes T=1.TD(1) ALWAYS CODES the FIRST protocol supported BY THE CARD.

If the Card supports several protocols they must be coded in subsequent TD(i) bytes.The bytes TA(2),TB(2) and TC(2) have nothing to do with T=1. That’s why in this ATR they aren’t sent.

In fact TD(1) directly sends to TD(2).

TD2
"31"
TA3 and TB3 present; TC3 and TD3 absent; T=1 to be used.
If you analyze TD(2)

‘3’ = 0011 means that TA(3) and TB(3) follows.

b8=0 means that no subsequent TD byte is transmitted :This Card only supports T=1 as first (and Last) protocol.

TA(3) and TB(3) are the first bytes of the ATR which code T=1 specific transmission parameters.



TA3
"10" to "FE"
Returns IFSI, which initial value for information field size for the ICC and IFSC of 16-254 bytes
.TA(3) codes the maximum length of information of a I-Block that the card can receive. If the ME needs to send more data it must chain. By default this parameter called IFSI is 32 bytes. 

Sub-clause 8.2.1.1 IFSC should be 254 not 354

TB3
m.s. nibble "0" to "4" l.s. nibble "0" to "5"
BWI=0 to 4 CWI=0 to 5
.Is the Block Waiting Time.

TCK

Check character
Just to identify error transmission during Atr.
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